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QUESTION NO: 1

One of the challenges in working with unstructured information is that traditional business intelligence
solutions are limited to which of the following?

A. Intranet search and analysis.

B. Reporting and analysis of only structured data.

C. Reporting and analysis of only non-structured data.
D. All of the above.

Answer: B

QUESTION NO: 2

What is the difference between a crawler plug-in versus an export plug-in for the crawled documents?

A. Only the export plug-in can export the crawled document to a file system.

B. The crawler plug-in can view the metadata while the export plug-in cannot.

C. The crawler plug-in can modify the crawled document while the export plug-in cannot.
D. None, they referred to the same plug-in.

Answer: C

QUESTION NO: 3

Which of the following views of the Text Miner is dedicated to analyze a three way correlation between
a pair of selected facets?

A. Deviations view.

http://certkill.com


http://certkill.com
http://certkill.com

CERTKILL
000-M90

B. Trends view.
C. Connections view.
D. Documents view.

Answer: C

QUESTION NO: 4

Which of the following rules can be used to build categories?

A. Group documents by specifying a URL pattern.

B. Categorize documents that match complex query.

C. Identify documents based on specified keywords that occur in the document contents.
D. All of the above.

Answer: D

QUESTION NO: 5

Which of the following is NOT available with a Text Analytics collection?

A. Search multiple collections.

B. Custom text extraction rules.

C. Deep inspection of analysis results.
D. Custom user dictionaries.

Answer: A
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QUESTION NO: 6

Which of the following is NOT a feature of ICA?

A. A view to display Cognos Bl reports.

B. A customizable view to display facets, frequencies and correlations.
C. A view to display locations on maps.

D. A view to display connections between facets.

Answer: C

QUESTION NO: 7

On a distributed server configuration, the master server contains which components?

A. Crawler and indexer.

B. Indexer and document processor.

C. Crawler, document processor, indexer, and search.
D. Crawler, indexer, and search.

Answer: B

QUESTION NO: 8

Which of the following is NOT an input for the Capacity Planning Guide?

A. Number of search servers.
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